L0

Which of the following earthquake waves
are more destructive at the epicenter?

(A) Swaves

(B) Pwaves

(C) Rwaves

(D) Lwaves

Jhumming cultivation is known as
‘Kuruwa’ in which region/state?

(A) MadhyaPradesh

(B) AndhraPradesh

(C) North-eastem Region

(D) Jharkhand

CSP-1/C

77046 AuIg 694 HASN 68T 26agea
Y@ 96 Q6Q 7

(A) 9Q ee@
(B) @seg
(C) =g cog

(D) <q so@

6o 289/Q19i6a §A° @18 (Jhumming
cultivation) “Qq@l’" (Kuruwa) e106q
QaIgal |

(A) aungsea
(B) zizgsea
(C) eea-gs-zme

(D) e

3.

Match the following :

(a) Loess I. Riverdeposits

(b)* Moraines 2. Glacier
deposits

(c) Gravcls 3. Wind deposits

“(d) SandandClay 4. Sea deposits
Codes :
@ () () (@
Gy N A T 4l
@) 3 a0 1 ¢
@ 4 N 3 2
D)3 4 1 2

Which of the following terms were not
the terms of 'August Offer - 1940'?

(1Y ANominated Indian Body would be
formed afier the War to frame the
Constitution

#4(2) Dominion Status was not the
objective of India

(3) More Indians representation in
Viceroy’s Executive Council

(4) AnAdvisory War Council was to be
established

(A) 2and3
(B) 3and4
(C) land2

(D) 1land4

CSP-1/C

FARYE Q 670R @ |

(a) ewIaq 1. Q@1 Q@°qwie
(b) 6RI16QR 2. QIR QGRS
(c) gieeq 3. Qg aqe

d) eQoae 4. QgQ/Q199 QGRS
618

(@ () (c) (d)
(A) 1 2
B) 3 2 1 4
C) 4 1 KPS 0
D) 3 4 1 2

70890 699 23959 ‘298 ggIe 1940’
(August Offer - 1940) @ 2349 6% ?

(1) <Q896Q 6QITY AERIRIS AALIA AAVL
QAUIR A0S QIR AYITL

(2) QoraIdc 8AGI NUACA AINTHY Q6L

(3) [UQQIBS AT ATIE 2R
ANASIAS TG

(4) 6qIf4 Qe QA6Qql 998e Q0&
QAUAINY QU

(A) 283
(B) 384
(C) 182

(D) 164

[P.T.O.



()  Which of the following statements are

not correct in respect of ‘Constituent
Assembly’?

‘qANIRe Qs (Constituent Assembly)
QGegaisa, AEAI9 694 999%FR 0] Q6€ 2

(1) QRuRRes! aig, 1946 gRIR-2986

Which of the following statements are
f:orrect in respect of Electoral College
in India to elect President of India?

Yo

QAR AIGABS BSIGR Al AERERYAIR FEAR
gagea A67IQ 62Q a9gee OR ?

(1) Elections to the Constituent adien 6219gR!
Assembly wereheld in July-August, (2) sleeia sio1a @69, 2088 @iag (1) It consists of Elected Members of (1) <26a 69ga(@e 28R QRESa G QIE1a
1946 Al Legislative Assemblies of QIeNal 28Q @qia ReCe SRR
(2) The Indian National Congress won aonq 730 Biae GOaR National Capital Territory of 2849 @ aAuga 706a A68IUe
208 Seats (3) aeaRs 7362l & Delhi, and Union Territory of 290101 QERERYAIN PEARE I°6IFS

(3) Muslim League won 73 Seats

(4) <geie 28R 933 21a8 §6gR!

Puducherry and were added to
Electoral College by 70"

i (A) 1,263 Constitutional Amendment
) EHncelyStateson pases 304 . (2) <Aaea 4200 QEaRIR UFQAIR 2
(A) 1,2and3 @) 229 1971 294! 21IQ6R 6RUSA A1 8
(B) 2,3and4 (©) 1507 (2) The number and values, of votes FRES
D) 12064 are based on the population of
(C) 1,3and4 3 ! 1971 Census of India as per 42
(D) 12and4 | Constitutional Amendment (3) aawiea 84 6A @EaINR, 2011

Which of the following matchings are
not correct in respect of Schedules and
Subjects in Indian Constitution?

2700 694 621GFER QIRGTA ARUIFA SIS
6 389 956gA16Q O] 962 ?

(3) 84" Constitutional Amendment
fixed the values of votes based on
current population Census 2011

SRRl ZRIRER ENCAS FRY FRIQE

(4) 1993,q21g@aNCT e 6@R4Ide
289 GYEEAR RUIGRS 29AR

eiel (D
Schedules Subjects @) I e AG &
@) I Emoluments for 696% (4) The entry of MLAs of NCT of
C & AG ofIndia Delhi and Union Territory of
(2) II QLY A8FLYFRER Puducherry came with effect from (A) 263
(2) II Allocation of 2IQ8 98 June 1, 1993
Seats in Council R R
of States ©) 2g980 cagqoace o
gaIge 6 Faqd
3) VM Administration X L (&) 2and3
and Control of ) Q19818 aAMIRe gae
Scheduled Areas QEFIRIN 5 il
' (B)liag C) 182
@ KX FirstAmendment e ©
of Indian Constitution B) 263
(A) land2 ©) 204 (C) land2 o
(]
(B) 2and3 ) 304 |
(C) 2and4 (D) land3
(D) 3and4 :
. CSP-1/C 4 CSP-1/C 5 [P.T.O.




Which of the following statements are

correct in respect of the genesis of the

‘Doctrine of Basic Structure of

Constitution’?

(1) Thisdoctrine was first propounded
by Supreme Court in Shankari
Prasad Vs Union of India Case

(2) In Sajjan Singh Vs State of
Rajasthan Case Supreme Court
held that Parliament could amend
any part of the Constitution

(3) InGolaknath Vs the State of: Punjab
Case Supreme Court ruled that Art.
368 only lays down the procedure
to amend the Constitution but does
not give an absolute power to
Parliament to amend any part of the
Constitution

(4) In the case of Waman Rao Vs
Union of India Supreme Court set
aside the basic structure doctrine

(A) land3

(B) 2and3

(C) 2and4

(D) land4

Which Four Articles of Indian
Constitution among the below given
Articles were added to the Indian
Constitution by the 42" Constitutional

AmendmentActof1976 2

(1) Art.24(A) (2) Art.28(A)
3) Art.39(A) (4) Art.43(A)
(5) Art.46(A) (6) Art.48(A)
(7) Ar.144(A) (8) Art.323(A)

(A) 1,3,5and7
(B) 3,4,6and7
(©) 2,5,7and8
(D) 1,3,5and8

' CSP-1/C

Aeqlo 690 99GER ARIFA 6AIRe I8l Asie
(Doctrine of Basic Structure of
Constitution) GAGTeR oR ?

(1) <ass, ga6a QERIR RYIAINAS QIal
4581QIe QRIA 688 A8RIAS AINAISR

QuIQIRAR!

(2) Qedie fYAIRA AFQ T 9RIA QISR
QIRY AINRIER A°AR, ARIIFA 6AEF1AQ
2rq @6alIe @QAIFER €QIA Qla
6268

(3) saRenia SRIA GBI QISY AIARISA
Q6RIE UG QIS 6QRUEA €4, AR
368 6@ 69aR AL A°CARIFA Q4G
28, @ 2'Aeg QRIS 64 6R16Q 2°6Q.
Jrcalg IS g4 908! FRAAIBRT

(4) GAIR QI8 9QIA 697 AARIA AIARIER
Q6SIE UIAIRG 6FIRR F0R ATISA AR
QAYERN

(A) 163

B) 263

(©) 264

D) le4

76919 6RA SINLAIT IR, NRGIA AARJUIGA
4260 QRIS QARIS A1l 1976 2116
2849 62I2RI 2

(1) w24 (A) (2) 128 (A)
(3) uRI39(A) 4) uei43 (A)
(5) u46(A)  (6) 148 (A)
(7) u9i144 (A)  (8) el 323 (A)
A) 1,3,567

B) 3,4,667

©) 2,5,768

D) 1,3,568

10. Which of the following statements are

11.

not correct in respect of Union List of
Seventh Schedule of Indian Constitution?

(1) There are 100 subjects in the List

(2) This List signifies Co-operative
Federalism

(3) There are 15 subjects in the Union
List on which Parliament has an
exclusive power to levy Taxes

(4) The Supreme Court has no
jurisdiction over the matters in
Union List

(A) -land3
(B) land4
(C) 2and3
(D) 2and4

Which of the following are Non-
Constitutional Bodies in India?

(1) Tribunals

(2) National Investigation Agency

(3) Competition Commission of India

(4) Law Commissjon of India

(5) National Commission for Scheduled
Tribes

(6) Comptroller and Auditor General
of India

(A) 1,5and6

@) 2,3and4

(©) 3,5and6

(D) 2,4and5

CSP-1/C

10. G699 699 QIqFR, NAEIA dAIea 499

11.

Qo1 2RINER 682 SIRRI 2l 0% 962 ?
(1) e@eisa 100 e 28
(2) eIRQE 9AQIa A°A1ARAG geIeg

(3) eege@eca 15 ¢ 1 39a 28 il
Qa6a a°ae g9R FA6I @96a I
Q]4IaQ

(4) 6wgeIRRITBAEQ ACSIR RIAITH cq6a
29684 Q@R RF

() 163
B) la4
(©) 263

(D) 264

FaauIq 62998 QUASER 26Q1AI8Q
aaae ?

(1) SueR

(2) eIo19 2gARIL A°gl

(3) SIeea gesaldel Q8

(4) <9 ABK KA

(5) 2gq9e eReIES QIsla *AaR
(6) S196Q FAQR B ARCKSIRIY
A) 1,566

®) 2,364

(C) 3,566

(D) 2,465

[P.T.O.




Which of the following statements are
not correct in respect of the Election
Commission of India?

(l’) Art. 327 gives power to Parliament
to make provision with respect to
elections to Legislatures

(2) Besides Chief  Election
Commissioner, two Additional
Commissioners were appointed for
the first time on January 1, 1990

(3) The Election Commissioner
Amendment Act 1990 made the
Election Commission a Multi-
member body

(4). The decisions in Election

~ Commission by the members are
made by unanimous vote.

(A) 2,3and4

(B) lonly

(C) 13and4

(D) 1,2and3

The Impeachment of Indian President in
the Parliament is a

@A) Political Procedure
@B) Legal Procedure
©) Quasi-judicial Procedure

(D) None of these

CSP-1/C

12.

13.

7eqI9 694 89YER INGA AQIee Qfae
aG6a168 OR Q6% ?

(1) el 327 @*ae]. AR QA8 [LIe8
Qegia SA6! 6288

(2) q8YRSIoR QAARSS QicIe g o)
shareq gz 2 a1a 1990, sigaiat
1 6@ 899 QAIAIRYRAI

(3) @dier QAaRa ACARIR A 1990,
5510R QAARQ €2A9QY AREQ @3R!

(4) @<ieR ARG FERQER AQAAIRT
Q2AE 6T 2RIIKER 62IRAN

(A) 2,364

B) seee 1
© 1,364

D) 1,263

Q°A26Q NG AGATE, ARINEAIS 6208~
(A) «uesqoe ggal

(B) 21esde 98al

(C) zs-aude ggal

(D) 6d6dC g6

14.

15.

Which of the following statements are

not correct in respect of Advocate

General in India?

¢1) The Advocate General is the
highest Law Officer of the State

(2) Heisappointed by the Governoron
the advice of ChiefJustice of High
Court

(3) He should be eligible to be
appointed as the Judge of a High
Court -

(4) He/Sheshould not be more than 65
years of age.

(A) land4

(B) 2and4

(C) 2and3

(D) land3

Which of the following statements are
not correct in respect of Private Member
Bill introduced in Parliament?

(3) A Private Member is any Member
of Parliament other than Member
of Treasury Bench

(@) The Bill of this nature are
introduced and debated only on
Mondays

3) It's introduction in the House
requires One Month notice

(4) A Constitution Amendment Bill
may be introduced either in Lok
Sabha or Rajya Sabha

(A) 3and4
(B) 2and3
(©) land2
(D) land3

14. Q1969 2IGERI6E 626FAIRS AR6ZAIER 676

15.

QA3geR 0K 962 7

(1) 2IGERIERE 6IEAIAN A Q6L AIAR
2R

(2) @eryaega qHIFeIRasS aqiad
2QQIEa SIS |QIRIAIR 8ge QdaIs

(3) 62 QeRYIAIRAR TOIRAT 622IQ €IS
(4) ©ISa 994 65 e AR 621G
(A) lc4

B) 2064

(€©) 263

(D) 163

76919 629 A3YER A°AWEA 69ARNA1 IR
QagIgR 9aATEa OR G62 ?

(1) 966 69QRRIA1A2QAY, ANRIAILR AECIS
6Q6Q161Q AI'AQ

(2) <2 99 RAQIAF B AERAISAI €9
6QIARIRER 6RIQAN

(3) 96292 2VYAR QIR R AIAR 61T
2R84 Q6

(4) 69154 QRIS ACARIR I 6RUSARU QU
QAN RAYITR FAAINAIER

(A) 364
(B) 263
(©) 162

®) 183




Qf.

Which of the following statements are
correct in respect of Anti-Defection
Law?

(1) Anti-defection Law found place in
the Constitution by 52
Constitutional Amendment

(2) The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989

(3) The Anti-defection Law was
reinforced in the year 2002

(p/ Ifany Memberwhois independently.
elected joins any political party, he
is not disqualified

(A) 2and4

(B) land3

(C) land2

(D) 3and4

Which of the following statements are
correct in respect of ‘Special Sessions’
in Parliament ?

(1) The term Special Session of
Parliament is defined in Art. 85 of
Indian Constitution

() Art. 352 (8)(b) of Indian
Constitution speaks about Special
Sitting of the House of Parliament

(3) The proceedings of both the
Houses of Parliament in special
sessions would be limited

(4) If proclamation of Emergency is
issued when the Parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President to convene a
Special Session of Parliament

(A) land2

(B) 2and3
(C) 2and4
(D) land3 "

CSP-1/C
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17.

16. eeees dsal 2100 96 F69I9 6aq

@3geeoR ?

(1) aRaga 52 69 QEAINRER 9 Qg
Seall 2IAR IR AIQaR!

2) 1989 69 QAUIRR QA 991 A8gQ
(3=

(3) 200268 99-998 Q6Q 28K Q 2UIgE
Q9 SRIIR%A

(4) 9% 6dlad Q@Y QIR NI6R Adide
6RI26R, 69 €9 6R1OT ARER Alfia
62691 GIS AQAYGI FIQS 629R1T |

(A) 2064
®) le3
©) le2
(D) 364

Q'90Q QOR ZXERER JATER TEAIQ 694

29q6e 0R 7

(1) s1esia Qg I8l 856 Q°QeQ
QO] 2M6QARA ARl QUIQIGE

(2) sieeia QAdIga el 352 (8)(¢) 6@
Q°QqQQ Q6R UNESATA A 2g

(3) Q68 12NERARER A°ARQ ARG AR
QIdyIeR! Q1Ae K62

(4) QAR 2YERLR FYSN 696R Q% *Q8!

A3g6 6AITAI QRIFIN, 6669 6RIGARNIA
4R gE19I'd B AUNIARI 9@ O1AId
QY QIgOGS A°AQA JeF AT
2IRIe 37 92aIes

(A) le2

(B) 283

©) 204

D) 163

19.

Which of the following statements are
correct in respect of ‘Due process of
Law’ and ‘Procedure established by
Law’?

(I) ‘Due Process of Law’ focuses on
the formal adherence to legal
procedures set by the Government

(I~ ‘Procedure established by Law’
emphasises the protection of
individuals Rights and faimess in
the application of Law and Legal
Proceedings

(A) Iis correct and II is not correct
(B) Iliscorrectand I is not correct
(C) BothIandIIare correct

(D) BothIandIlarenot correct

Which one of the following is necessary
for Pressure Groups to be effective in
influencing Government Policy?

(4) Largenumber of Members
(B) Accessto media outlets
(C) Money and Expertise

(D) Legalsupport,

CSP-1/C

11

18.

19.

21060 9212 ggal (Due process of Law) 6
zZiof QI8 9686 gaIL1 (Procedure

established by Law) gagea @64i9 6@

2996e 0% ?

(I) 2eee 921 ggal 48RS QeI gole
IO Q4EgIa SR 2RDINE VA63 YT
@q

() ‘2198 {11 geqe gaie!’ fI9eenIrea
2108 8 AR 216997 6896 6Q9IRS]
Q1] 6 IREIA gadl &4 |

(A) Iogellea
(B) oraelen
(C) esalalloR
aaalallge

D)

QaRIQ! TGS GEATAIN FAUIY 6%
@ia6a1g! (Pressure Group) QIQ 29G4 ?

(A) e @8R Ay
(B) Seaiaaraeald
(C) zd G ad=s!

(D) 2LR9S AVAS!

[P.T.O.
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Q0. Which of the following are correct?

Substantive Public Policies are those
which;

(1) plan and programme to get things
done

(2) allocate resources/services to
particular segments of larger
society

(3) directly distribute benefits or costs
for citizens

(4) impose restrictions on behaviours
(A) land4
(B) land2
©) 2only

(D) 3only

Which of the following policies provide

- 2 Tax refund on all or part of a poor

family’s Social Security Tax?

(A) Temporary Assistance to needy
families

(B) Eamed Income Tax Credit
(©) Food Stamps

® Sppplw Security Income

12

20. F6QIQ 69AQEROR ?

21

.

Q2108 ASERIR FIEYER SIRI, QILl:
(1) QINIQea QI 6AISRI 8 QIdien

(2) Qeee QAIRR 69IFIAIN An%/cqq,
6QIIR1 494

(3) SIIARAIRE QIR GV QIS Q| 0
Qe

(4) 21906 QAER /SR4I QRS
(A) le4

(B) 1a2

(C) seee 2

(D) eeee 3

R6QI9 6946 69154 9ae Qdelaa AINEe
9681 §9aQ 2 Q1 anela Tea caalae 91d
Qg ?

(A) e6e aReiagRe anide agias)
(B) 28e 21a0a 6ga
©) sieyaig

(D) 2569 qemi 210

22. Which of the statements about Public

Policy are Correct? ‘A Public Policy
may be;

(Y General or Specific
(2) Broad or Narrow
(3) Positive or Negative
(4) Rational or Irrational
(4) 1,2and4

(8) 2,3and4

(©) 1,2and3

(D) 1,3and4

Which of the following statements are
correct in respect of ‘Distributive Public
Policy’?

(1) It is also known as ‘Patronage
Policy’

Q) It is meant for specific segments
of Society

3) Itis concerned with regulation and
control of goods and services

(4) It requires little administrative
discretion

(A) 1,2and4
(B) 2,3and4
(© 1,3and4

(D) -1,2and3

CSP-1/C

13

22.

23.

6719 694 939 AIFeRa F15 aagEIea
0 7 6915 AISSRR 718 99 ?

(1) Qriea < 58

(2) g4ag I Agoe

(3) QAR I RN
(4) Q3Qge QI eduR
(A) 1,2a4

(B) 2,364

©) 1,2a3

(D) 1,384

36719 699 Q3QER ‘AL R !’
Qq69a16Q O0R ?

(1) <2 Ay ‘qQEsaIge F16° [UEY A8Fe
(2) <2l QMIee 35 691g1/96S A 95g

(3) <2 ANG! B 6QAA ATLINRI B FARA
ad ey

(4) 921 GBS GAIARS F6I9R! 2INAIQ V€I
(A) 1,2a4
(B) 2,334
©) 1L,3c4

(D) 1,263

[P.T.O.




24. Which of the Articles of Indian 24.
Constitution relating to Fundamental
Rights are not available to Foreigners in
India?

(A) Articles 14, 20, 21, 24 and 26

(B) Articles 21, 21(A), 23,25 and 28

(C) Articles 14, 22, 25, 26 and 28

(@) Articles 15, 16, 19, 29 and 30

23. Which Four Amendments to Indian
Constitution given below are related to
Scheduled Castes and Scheduled Tribes
in India?

25.

List of Amendments t

1, 8, 19, 29, 46, 65, 95, 102
(A) 1,8,65,95

(B) 8,19,46,102

(C) 19,46, 65, 95

) 1,19,29,65 -

CSP-1/C 14

QesIa AR 6A1eQ 2RI} AANA 69
ARIGER AUREER F6RAIFIRS AIQ AQE Q62 7

A) usi 14,20, 21,24 626

®) ami2l,21(A),23,25628

(€) wiei14,22,25, 26628

(D) a5, 16,19,29 830

QIGG10 ARIFR FEAIS 696 SIRCAIT ACAR
QURSA A9EE 9IS 6 SRRGS AARIA ?

QURSIA AAAIRY ACANR SIRRI :
1, 8,19, 29, 46, 65, 95, 102
A) 1,8,65,95

B) 8,19,46,102

(©) 19,46,65,95

D) 1,.19,29,65 -

27

Which of the following statements
are not correct in respect of ‘Right
to Privacy’?

(1) The Nine-Judge Constitutional
Bench that declared ‘Right to
Privacy’ as Fundamental Right
was headed by Justice J.S.
Khehar

(2) The Supreme Court of India
gave this historic judgement on
August 24,2018

(3) Justice I.S. Khehar was the
former 42" Chief Justice of
India

(4) He was appointed as Chief
Justice of India in the year 2017

(A) 2and3
(B) 1and2
(C) 2and4

(D) 3and4

Which of the following is not included
inArt. 19 of Indian Constitution?

(A) Freedom of Speech and Expression
(B) Freedom of Movement
(®) Freedom from Detention

(D) Freedom of Association

CSP-1/C

, .

15

26.

27.

‘Mgae ayma’ (Right to Privacy) 9Aasa

G649 694 939eR OR 3% 7

(1) RIAFR 69.49.64R19F 2286169 F09
@' 9d21 QAR U6d10 ‘I
2QI° @ 6A13Q 24RIA A6 sa1gdl
QRAZYER

(2) 2018, 294 24 &3 Q1999 6T
AR 1@ 352Ide Q1A 6296

(3) SYIOR 62-99.68219 Qe SIS
cuaIeaa 4260 a4 391999

(4) 6a <SR SN3RIaa8 SR 201782
399 6RIAYEN

(A) 263
(B) 162
(C) 264

(D) 364

F6als 6990 SISEIa IR AIAI 199 2888
Q6 ?

(A) <IQ QRSS! 6 QIESIE

(B) aI6RINK} ARIIKS! (Freedom of
Movement)

(C) <218 QRSS! (Freedom from
Detention)

(D) Qas QILS! (Ereedom of
Association)

[P.T.O.



}8./In which of the following years the

'Declaration of the Rights of the Child
was passed by UNO?

(&) 1949
(B) 1951
(C) 1956

(D) 1959

Read the following statement given below.
and choose the correct alternative

Statement 1- Land degradation s caused
due to soil erosion and waterlogging

Statement 2- Deforestation is the major
cause of soil erosion

(&) Both are correct
(B) Both are incorrect

(C) Statement 1 is correct and
statement 2 is incorrect

(D) Statement 1 is incorrect and
statement 2 is correct

CSP-1/C

28. Geqle 6o AARIER SIA'T Al ‘Fgq

29.

2RIRES 6QINAIRIAI AFEARES 6R19gQ) o

(A) 1949

®) 1951
(©) 1956

D) 1959

FaAYe A9gee aF 12IQ A0R Qe Ada
Qe |

a3 1 - 3% 906 £2q¥6I 6aI 8AR 2983
(I

@3 2 - 9UIR /] ¢ el 901 ggs Qed

(A) @9 0]

(B) e84 9R

(C) @927 @d 0K 6 61 98 QR

(D) 929 @ Qe 6 {618 @8 0]

30.

31.

Land degradation in India happens at a
very large scale”, because

(A) Inadequate soil conservation
measures

(B) Overgrazing

(9) Both (A) and (B)

(D) None ofthe above

“There is a huge loss of valuable nutrients
and fertility in India”. What are the
reasons for this?

(A) Soil erosion

(B Land degradation

(C) Water logging

(D) Air Pollution

CSP-1/C

30.

31.

QKGR eZR AIGIEA 7] 2934 age | 92Ia
QA€ -

(A) @age 78l 2°9aq 4egIA 291°

(B) 2ey@ Q196

(C) «s@ (A)we(B)

(D) <gEe AIQ 6968 Q6%

Qiaeea RIeIe 98 6 adesa uIae 88
2098 ¢4 | ¥2I8 Q108 ~ -

(A) qeeisa

(B) sfQaesa

(C) esqde!

(D) <1 9e8a



32.‘ Which of the following organization

34.

" (@) Standard of Living

s (D) None of these

. CSP-1/C o

~ (A) MGNERGA

'(B) Head CountRatio

~ determines the wage policy?
(A) Productivity

. (B) CostofLiving

collects every data on poverty in India?
@) NSSO
(C) SISRY

(D) None of these

Which of the following helps to measure
the Poverty Determination?

(A)  Poverty Gap Index

(C) SenIndex

(D) Allof these |

In India, which of the following

L
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33.

34.

cay a°ge Q6R ?

(A) <waaedd (MGNERGA)
(B) 9R9Q¥Q6 (NSSO)

(C) 9Q689q2Q QR (SISRY)

(D) 6Q6aE 962

B6gI0 FAYQ 694 RAIE QT Baca A
62102 7

(A) <Idgy QiEiey QeRIS
(B) 98 94qi2gae
(C) 6QR QoIS

(D) Qqqee

R6QI A 6998 QIRGER AIRgaAR Q18
(wage policy) ada 6aeiN ?

(A) egeraisel
(B) s1e8 diaaa ey
(€) s198 MIRaR AlIp

(D) ea6dc ged

\
\

\

|

Which of the following three states in
India are considered the poorest?

(A) Bihar,Madhya Pradesh, Haryana
(B) Jharkhand, Bihar, Uttar Pradesh
(C) AndhraPradesh, Jharkhand, Bihar

(D) Madhya Pradesh, Haryana,
Jharkhand

Consider the following statements about
Atal Bhujal Yojana

(1) Ttisconceived to arrest the rampant
overuse of groundwater in India

(2) Itis supported by the World Bank

(3) Itisasub-scheme under National
Groundwater Management
Improvement Scheme (N GMIS)

Select the correct statements
(A) 2and3
(B) land3
(C) land2

(D) Alloftheabove

CSP-1/C
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36.

.

35. QIeeQ 990IQ 9Ae QIfY KU 6Qd G6RIT

QURY F6206 928 ?

(A) 3d2Ie, Aigeed, 229!
(B) <«iews, 329, Q8% g6ed
(C) ziggead, QISsiE, =)

(D) qigead, 202K, SISHS

‘260 989 6QIeRl’ ANGER REAIS ASNGSR
39i@ @4 |

(1) ZGWR 968 89 QYLAAR 6aIRS QA
2 69Ieql gge 6RI8R

(2) [QUIS Qviac! 919

(3) <619 §° 99 9RQINRI SRl saIST
2RER 121 IR AACAISR!

0) ASRYT fda Qa |
(A) 263

@) la3

(©) 182

. (D) @Q6alg AR

[P.T.O.




37.

38.

CSP-1/C

Which year is known as the year of
demographic divide?

A) 1921
(B) 1920

(©) 1919

D) 1918

Consider the following statement (s)
related to the reasons for low sex ratio.

I.  Highmaternal mortality
II. Sexselective female abortions

II. Change in sexratio at birth

Code:

(A) OnlyI
B) I&I
(C) I&II

(D) LU&II

20

37. ced o8 eRadl QA1 ISR Q4 Syse

38.

[
[
|

36906 6vIaNa ?
) 1921 |
®) 1920

(© 1919

D) 1918

B 2gaie 9F 62QIR QIS AN F6AIg
AsMges S01 @4 |

L 2yeqQ qeiee

L &g 808 S8R @ayl syl
II. g an96a A 2gdIe 93eER
6QIQ :

(A) eeeel

(B) Ixell

(C) eIl

(D) LIl

?.

B @©

Consider the following statements
regarding an aquatic ecosystem :

(1) The shallow water zone around the
edge of the lake is the littoral zone.

(2) Limnetic zone is the open zone
where phytoplankton grows in

abundance

(3) Profundal zone is the dark zone
where the light cannot reach.

Which of the statements given above is/
are correct?

(A) 1only

(B) 2and3only
(C) land3only
(D) 1,2and3

Which climatic phenomenon is
characterized by cooler than normal sea
surface temperatures in the central
Pacific Ocean?

(A) LaNina
(B) EINino

(C) Monsoon

~(P). Tomado

CSP-1/C

21

39.

40.

So0 086 Megl 69Q F69IQ AJEa G9Ia
@ :

(1) ge uIesR 291 RQEIY @63 6298
Geaia 6ag (Littoral Zone)

(2) Limnetic Zone 6292 79688 6090162
phytoplankton gga SI6Q 9524

(3) Profundal Zone 620 2a<Ia 633
6990I6Q 2I6QIQ ARERANM

6019 694 ag/a3gee 0K ?
(A) eeee 1
(B) 6299206 3
(C) saeela 3
D) 1,263

6991a 9aI8 ARIAIGRER 664 AIGaId acal
QRISE QYRR SIAAIG! Q18R QFAN ?

(A) «i@el(LaNina)
(B) <@ @esi (EI Nino)
(C) esgem

(D) Qig&e &9 (Tornado)

[P.T.O.




41.

42.

,CSP-1/C

Which of the following Articles of the
Constitution of India refers to protection
and improvement of environment and
safeguarding of forests and wildlife?
(A) 39A

(B) 43A

(C) 48A

D) S1A

Which of the following are primary.
pollutants?

(1) Carbonmonoxide (CO)
(2) Sulphuroxides (SO,)

(3) Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CEC's
(6) Radioactive pollutants

Select the correct answer using the code
given below

(A) 1,2,3 and 6 only

@) 1,2,4and 5 only

() 3,4,5and 6 only

(D) 1,2,3,4,5and 6

41. QIecia IAIGA 6919 60Q IR QE4eR ¢

42.

22

Qaega 98I 61868 JRI8 QI adq 7
(A) 39A [
(B) 43A ,
(é) 48A

(D) SIA

76019 6°996R QIaFe 9Q8e ?
(1) Carbonmonoxide (CO)
(2) Sulphuroxides(SO,)

(3) Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CEC's
(6) Radioactive pollutants

R96Q Q2IQINYS! 6QIF VLRIQ @@ 0] LA
Qg |

(A) eeee1,2,386
(B) seee1,2,465

(C) 6923,4,566

(D) 1,2,3,4,506

.

Consider the following statements:

(1) Meteorological Drought is based
on the impact of rainfall deficits on
the water supply.

(2) Socioeconomic Drought refers to
the impact of drought conditions on
supply and demand of economic
goods.

| Which of the statements given above is/
are correct?

(A) 1only

(B) 2only

(C) Both1and2
(D) Neither 1 nor 2

With reference to cloud seeding,
consider the following statements:

(1) It is a weather modification
technique that improves a cloud’s
ability to produce rain or snow by
introducing tiny ice nuclei into
certain types of subfreezing clouds.

(2) Aluminum hydroxide is the most
common chemical used for cloud
seeding.

Select the correct statement using the
code given below:

(A) lonly
(B) 2only
(C) Bothland2
. (D) Neither 1 nor 2

CSP-1/C
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43.

44.

36019 239ERa I9IQ @A -

(1) o@aeae Qe IREAAE6R dRUL
aeIe R0

(2) aq@e 6 21%e A% 215Q AAFIA
€QI916 B Q@ ARG

QU6aIg 609 29/03969 0K 7
(A) seee |

(B) 6eee 2

(C) ssalc2

(D) 1 2al2, ca=gsed

saa eieea (Cloud Seeding) 883 24
QJgeea I9IQ |a:

(1) 2498 QSIS QUISA 6Q1E2 A2 6aAR
Qdl QQIee JA6I |F QI §AgAIRIQ
§1630048 QA<I 679 6816 90T ¥8 9§
Q6R

(2) 219dfaa 2ANLIRIAIGE, 69a Q1
6RI066Q AN AUABRR AU QR

24

3962 S2IAIQRI 61 RIQ 9] AR
QRAE QIT :

(A) seeq 1
(B) 6eee 2
(C€) ssala2

(D) 1 8n2, 6eRg6L




46. National Air Quality Index (AQI) is
launched by the government to monitor
the quality of airin major urban centres
across the country on a real-time basis
and enhancing public awarencss for
taking mitigative action. In this context,
consider the following statements:

AQI will have ‘one number, one
colour and one description’ to
inform the public about air quality
in a simple and easily
understandable format

®

There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very
poor and severe

@

(3) The index considers eight
pollutants - PM10, PM2.5, NO,,
S0,,CO,0,,NH, and Pb

Which of the statements given above are
correct?

SA)/ 2 and 3 only
(B) land3only
(C) land2only

_(D) 1,2and3

CSP-1/C
Ve \L.
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45. aeqies QoI National Air Quality Index

(AQI) 988! *RUIQ 626 Y ALRABIEA
BeIae ANAIGAIER B SIg FR18E 8 8816
Q& Gacl a4 2Al, 12 9aTEa 79 /99TeER
391e «a |

(1)

AQI ‘9@ Qdil, 9@ 9F 8 9@ ager’

60 SREIQ QIQR AIR AAR G AITRR
QUL GIVIQ A&

(2) AQIS 63304, dal: K6, AR,
28 9986, ¢RI, 2R SAA 6 K18E

sUa

Q2 clael 2106 9e86a I9IQ Q6Q :

3)

PM10, PM2.5,NO,, SO, CO,O,, -

NH, 6 Pb

Q06aIg 694 a3qFR OR ?
(A) 69e9203
(B) eseel63
ceen 162

©)

(@) 1,263

~ Which of the following best describes
 the term Deep ecologism?

(A) A philosophy that belicves in
specific changes in daily lifestyle
of humans to minimize the damzlgc
to the environment

(B) A philosophy that believes that
humans should radically change
their relationship with nature

~ (C) A set of sustainable practices to
increase fish production in shallow
ocean ecosystems

(D) None of the above

The ability of a population to increase
" underideal environmental conditions is
called

(A) Natality
(B) Carrying capacity
= (©) Biotic potential

- (D) Absolute natality

1/C

46. 'Decp Ecologism' g #6919 cea 936 999
RUEQ Iyl 969 |

(A) <9 26 AIR IGIA Q8 caaRe 919
cacica aeq 0aeer A6} dA6Id
@f 96 *AQIEa ATIAG! |6A «

4@ ode Q21 34/ Q68 A6Y, 9364
a9 9°adea Q4Iae aasee /asl «al

(B)

Qedlg QIgie a36easa AR |QIe?
Q@ QA% 2Id

©)

(D) 96aIQ 67163E g6%

47. 2106 93698 2QQIER SRA'H Q8K 9AId
QR6R Q'€ QX4 ?

(A) sgee (Natality)

(B) snewiea (Carrying capacity)

(C) €8s aind (Biotic potential)

(D) @qd $qae (Absolute natality)

(P.T.O.
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48.

49.

50.

‘Which disaster is most likely to be

influenced by climate change?
(A) Earthquakes

(B) Tsunamis

(©) Tropical cyclones

(D) Volcanic eruptions

Tidal waves are caused by which of the
following gravitational interactions?

(A) Sun’s gravitational impact on the
Moon

(B) Earth’s gravitational impact on the

Moon

(€) Moon’s gravitational impact on the
Earth

(D) Earth’s gravitational impact on the
Sun

A square shaped hole is punched in a
metal sheet whose linear thermal
expansion coefficientis 1 x 10-> per °C.
The size of the hole will decrease by
10%, when

(A)  The sheet is heated by 10 °C

(B) The sheet is heated by 100 °C

(C) The sheet is cooled by 100 °C

(D) The sheet is cooled by 10 °C

26

48. coqig 08QHR QRINER 6’9 QRAIQ 2XR

49.

50.

6RIQEIN 7
(&) sfen
B) gaia1
(€) aige eyl
(D) 21699 eaise

|
F691Q 604 ARIGSS 24l 6aIg §218 98 29
(A) 98 @a6a QAIea AIRES 9RIQ
(B) ©1 @961 Q1R AKISHE gRIQ
(C) 9qas1 eg6l 68 @ AkIeda gaIe

(D) qdY Qa6R QaLIa AkIGHE gaIe

NQ AI6Q 96 AIRIA 6RYR GIA18 A°qAILE
qae 1 x 107> g& °C ¢1eg6aq 98 <5iIeIQ
86 @QIQIR8 | 892 21918 10% 214 AI99,
6666Q6R -

(A) @9 10 °C QeI 929 4
(B) Qe 100 °C Qa1 aga 4
(€) Qe 100 °C Qo1 2gl g4

(D) @< 10°CQal a8l g9

- Which among the following has the east

thermal conductivity?
(A) metal
(B) semiconductor

(C) superconductor

) alloy

Symbol of material used in conventional
glass thermometers is

(A) Mg
(B) Hg
(C©) Me

(D) Mn

The temperature variation of land near
sea is very less compared to that far from
sea. This is due to

(4) Sunray is not direct
(B) The seaabsorbs the heat
(©F High heat capacity of humid air

(D) Heat is reflected by the sea
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52.

53.

F6QI9 AN cesoa Aeay SITIA GaRIZe!
28 7

(A) ug

(B) zsadQizi

(C) 26 adem

(D) dgaig

ane'?éc QU9 2FIFCasa MeYe AIAFIR 991
6208 -

(A) wqg (Mg)

(B) a8 (Hg)

(C) waa (Me)

(D) <R (Mn)

QAR0IQ E6R JRI GINT FRRIE] FREER
QI gENISR SITAIGIN SIRSAY IS 16 | 9=
QAQq -

(A) Qdieea geya geg
(B) QqQ QRIag caI8a e]ald
(C) 2ig QYR 9S [WIA SAS!

(D) [RIQ QYRIR! GETIE SAKAN

[P.T.O.
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54. Which of the following statements are
correct in respect of ‘New Criminal
Laws’ enacted by Indian Parliament?

(1) The new criminal law’ Bharatiya
Nyaya Sanhita’ came into effect
from April 1, 2023

(%) BharatiyaNagarik Suraksha Sanhita
replaced the Indian Penal Code

(3) Bharatiya Sakshya Adhiniyam
came into effect from July 1, 2024

(4) TheBharatiya Nyaya Sanhita was
passed by the parliament in
December, 2023

(A) land4
(B) 2and3
(©) 3and4
(D) 2and3

55. Pick up the wrong matching of Brand
Ambassadors for Government led

companies

(1) DiaMirza -  Swachh Saathi

(2) PV.Sindhu -  Pulse Polio

(3) Amitabh - City Compost
Bachchan Campaign

(4)  Sachin - MakeinIndia
Tendulkar

&) 1and3

(B) 2and4

(C) 2and3

(D) 1and4

CSP-1/C
}

|
54, Qleea "ae QIal ga1e 62I9aR! ‘968 ao«iqa
axneaq’ (New Criminal Laws) 2gaia1
26719 691 ASYFER OR ?

(1) wge 1 eids 2023 adeiex ReR
2AQS ANFAA ‘RUSGIA Y18 L6’
QIAYQIQT 624al

(2) <SI9918 6ARIN 6RIC IFER KRS
IR QRA| ARG AU 629

3) 1 g 2024 q KISSIA QISY 23FAA’"
QUAYRIRT 62Q

(4) Geana 2023 68 QIGGIA FHIG ARG
Q°QAR6Q QIR 62N

(A) 164
(B) 263
(C) 364
(D) 263

55. QQRIql 9FCIRe eAIR1 6886Q YR S8
2/1719ex (Brand Ambassadors) g8 eae

Qa |
(1) <aiael - Qg Q@
(2) a9.Qg - aQQ 6916
(3) zdee eer - 30 Q6nIg QYIEN]
City Compost
Campaign
(4) QBe 692a8Q - 67Q] aR Q82
Make in India
(A) land3
(B) 2and4
"(C) 2and3
(D) land4

";w Which of the following statements are

correct inrespect of ‘Earth Rotation Day’

- 2024?

(6P) The Earth Rotation Day is
celebrated on January 8* of every
year

‘(2) This day is dedicated to
acknowledging the discovery of
Earth’s shape

(3) This day is also celebrated to
acknowledge Earth’s natural beauty

(4) Honouring the discovery of our
Planet’s movement

(A) 2and4

‘(B) land3

(C) 2and3

(D) land4

Which of the following statements are

not correct in respect of Sheik Hasina

‘Wazed, who resigned as Prime Minister

of Bangladesh on August 4%2024 ?

(¥) She was the Prime Minister of
Bangladesh for two decades

52) The students protest against Job
Quota tumed into anti-government
agitation

(3) The Supreme Court of Bangladesh
gave a ruling of 30 per cent
reservation in jobs for descendents
of those who participated in 1971
Bangladesh Liberation Movement.

(4) Sheis the President of ‘Bangladesh
National Party’ supported by
Jamaat-e-Islami

(AY 1and3
(B) 2and3
(C) land2
(D) 2and4

56. ‘qae1 ziese @ea-2024 ‘Earth Rotation
Day’ 056ga168 46919 69@ AGHGER 9212 ?
(1) goed aigzial 8 oiawea gae! 2I96iR
©eQ 9190 24
(2) qaeme 21qF 217AIQ AANEE 92 29T
QRUAIQe 62108

(3) qaeia 9IgeR cdledia qIg8 Q62846
AuY IR @04 QIRe 62IQaNd

(4) z1a gea 9F 2idAIa ANGER 2 @24
aRIL 2419214

(A) 204
(B) 183
(C) 283
(D) la4

57. 299 4 01aw 2024 6a QIQUCPE USR]
00Q 94T 62049 684 AR GIESRS 6386
F6QI9 699 N84SR OK 6L ?

(1) 6Q R QR UQ QI'ACVER JaUILART
Z6R

(2) 919962 A'AVA QI V6
SISLIRIAIER QYS! IR AR
TEQRI IERINRER ARES 62N

(3) eraices gg@a seis 1971 eraises g8
2I6RILRER RUTELRZR!I A°FIAIAIRS
aue aId 9133 68g6a aseal 30
QA QA I IR FELERIAI SUTWEN

(4) €AIQ-9-9ARIT AAYE ‘AN AR
Q'] 6Q 62REG ANTT

(A) la3
(B) 263
© 1la2
(D) 2064
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The Paris-2024 Olymic Medals contain
metal from which iconic landmark?

(A) TheMontBlanc

(B) TheEiffel Tower

(C) TheArcde Triomphe

(P) The Pantheon

597 Which ofthe following statements are
correct in respect of ‘Olympic Flame’?

(1)

2)

3)

@)

A)
(B)
©
(D)

CSP-1/C

The Olympic Flame is the symbol
of Unity, Sportivity, and Victory

The Olympic Torch is lit in Greece
and passed from one to the next
torch bearer to reach the hosting

city

The 2024 Olympic Torch was lit on
16™ April, 2024

The modem Olympic Torch Relay
was conceived by Dr. Carl Diem of
Germany

2,3 and 4
1,2and 3
1,3and 4

All Four

30

58. @418Q-2024 2QAK 6ACIRYEQ 69d Q@
go1ea AUIQ UG IR ?

59.

@)
(B)
©

(D)

@ 96 QIS (The Mont Blanc) |

[
@ 46aq €181a (The Eiffel Tower)
@ 21@ @ g6 (The Arc de Triomphe)

@ 912aR (The Pantheon)

20AQ AGIR 69G6R FEQIQ 6Qa ABNYER

oK ?

V)

(€))

3)

(C))

(GY)
()

©

(D)

A A g A o N

2QARQ AAIN 62QT IQGI, (UL AU
G 999Q go1e

AR AAIN FIA6R RIS 6RINAN 9Q*
2l 9EQ0IQ RSS! AAINUIRIS QIS
2(69190Q1Q1 ALAER avBaNd

16" <d2 2024 62 2024 207K AGIR
gRee 623N

efiFa 03 QIR 3AS QIS ARG ZRAQ
AN A6 ARQER FAIAIKYRI

2,364
1,263
1,364

aAAg QI6RITAIR

‘yWhiCh of the following statements are
correct in respect of‘Rashtriya Vigyan
Puraskar’? H

(1)
(2

3)

)

(GY)
(B)
©
(D)

This Puraskar was instituted by
Government of India in the \'ea.r
2023

This award is given in four
categories

Vigyan Team Puraskar is given to
five teams

For the year 2024, in the field of
Space Science and Technology
“Vigyan Yuva Puraskar’ was given
to Four Scientists

1 and 3

2and 4

2and3

1 and 2

61. Which Bank was included in the 2024
‘Fortune Global 500 List’ for the first
time?

(%)
(B)
©)

HDFEC Bank

State Bank Of India

ICICI Bank

(D) AxisBank

CSP-1/C
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60.

61.

‘Qgia IRIF eI’ 6Ag6a FE7I9 626
A8Q4gER 0] ?

(1)

()

)

(A)

(B)

©

(D)

2 geaIR 9199 9e”ies QIal 2023
AdRI6Q 939! LU

92 gaeia 9I60IF 96l gIR
eQIgIead

AIES TAQ Q=R §a gelIq gL
QAN

A21Q19 IRI 8 99Tyl cagsa 2024
od aid 0@ 94 6IT|FRG ‘TR g
geala’ geie ealgal

183

264

263

2024 63 629 HIS T2R 6QRIV-500 13!
(Fortune Global 500 List) 62 288
xRl ?

(A) 9@z a s

(B) sac IS 2o 82l

(C) 2180218321 VIS

(D) 9RQ I



62.

63.

Which of the following statements are
correct in respect of Union Budget
2024-25?

(1) Total expenditure projected at
Rs. 48.21 Lakh Crore

(2) Receipts excluding Borrowings
Rs. 32.07 Lakh Crore

(3) Fiscal Deficit projected at 6.8 %
of GDP

(4) Net Tax Receipts Rs. 34.83 Lakh
Crore

(A) land2
(B) 2and3
(©) land4
(D) 3and4

Which of the following statements are
correct in respect of ‘International
Everest Day’- 20247

(1) May 29" ofevery year is observed
as ‘International Everest Day’ in
memory of Tenzing Norgay

(2) This day was first observed by
Nepal in the year 2008 in
commemoration of Tenzing
Norgay who passed away on this

(3) Since its inception, this annual
observance has become a global
celebration of human endurance
resilience and the spirit of

62.

63.

QROR 968¢ - 2024-25 aB6gaIER R6QIQ

69Q NBYFER O] ?

(1) 6a18 SY0 2691 6207 48.21 9@ cafF
5]l

(2) «a <616 ageia 91§ adaie 32.07
QF 6QI8 OS]

(3) 2.8.9.(GDP) @ 6.8 % zige dae
(Fiscal Deficit)

(4) 9@ Qeq gi3 34.83 o8 cid
(A) la2
(B) 2a3
©) 1ec4
D) 3a4

2641610 168608 F9a-2024 gagea 6919
6ed ASIQEe QaId ?

(1) 668" a6dS ¢.G6a gded 6n 29 a
26FI01A N6R60] 39Q AIFE 621024

(2) 669" a6d B4 Q9 R gIeea 9REER,
OISR 9,561 gaen 2008 AdRIER 1@
@Qd 6RGIQ QIAI AIRG 6RINANI

(3) e gegIRIRg 2 QIFe AI9R AIRTIA
684y, Q90 B 26QB6Q g A6RITQ
R AAAEE 622G

(4) g6 2NIA 62088 gQREANYIAR FITER

exploration (A) 2a4
(4) Edmund Hillary was a Swiss
£ National (B) a2
(A) 2and4 ©) 163
(B) land2
(©) 1land3 (D) 384
(D) 3and4
CSP-1/C 32
4 i A

64.

i

As per the Data releaseq by Ministry of
Health and Family Welfare, Which oflhc
following States in India topped the
country in Organ Donation jn the year
20237

(A) Kamataka
(B) Tamil Nadu
(C) Maharashtra
(D) Telangana

Which of the following statements are
correct in respect of ‘Goldman
Environmental Prize’?

(1) This Prize was established in the
year 1989 by American couple
Richard and Rhoda Goldman

(2) This Prize is awarded to honour
grassroots environmental leaders
of Global recognition

(3) Prafullah Samantara is awarded this
prize for the year 2024 from India

(4)  This prize comprises ofa cash prize
of $5,00,000

(A) land2
(B) 2and3
(C) 2and4
(D) land4

6‘6/The name of the Artificial Intelligence

(AI) powered News Anchor developed by
the ‘India Today Group’is :

(A) Sana
(B) Persana
(C) Baani
(D) Anania

CSP-1/C

64. Qigy 6 adele eavig AR6IG QI9I goIa

65.

66.

Q19391 29 2gaa1 2023 6a NIeCA 699
|18y 2geie (Organ Donation) 68g6a
asieg Q28 ?

(A) eqiee

(B) eidarig

(C) aeicig

(D) sseagiql

saiaenye aasea qgaala (Goldman
Environmental Prize) 65gsa 86qi9 coa
A894QER 0K ?

(1) <2 gaaia 1989 ea 21603910 aI¢
G 62101 6AINEAIR MBS QIal 9FF!
Qg

(2) qeqee Sqgara adeca geaIQIRT QF
IQAIRS QARIRIET 97 eUQ 99IR
CEBIETRY

(3) 2024 ed aid sIaea gq] AASAIG.
% QRRUR gRIR SRIFINT

(4) <R QeRiea 23 Qi@ 934 6268 5
Q8 eaIx

A) 162
(B) 263
(©) 264
(D) 164

Q82 g6€ 9a QIal Iede Q8a g8aal (Al)
QA8Q QAR 2S8R ]I

(A) Qi (Sana)
(B) @aqaiel (Persana)
(C) <a1(Baani)

(D) 2eqv (Anania)

[P.T.O.
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63:

Which of the following statements ar¢
Correct in respect of  Vantara'?

1. It is national initiative for
afforestation

2. This initiative was launched by
Reliance Industries and Reliance
Foundation

3. It is started in Green Belt of
Jamnagar Refinery Complex,
Haryana

4. Vantara also aspires to become a
leader in wildlife conservation

(A) land2
(B) 3and4
(C) 2and4
(D) land3

Which of the following statements are

correct in respect of ‘Alliance of Sahel

States’?

(1) Itisa Confederation formed
between three countries namely
Mali, Niger and Burkina Faso

(2) Itoriginated asa Mutual Defence
Pact created on 15™ November,
2021

(3) All the three member States are
former members of ‘the East
African Community’.

(4) The Confederation was established
on 6" July 2024

1and2
(B) 3and4
(C) 2and3
(D) land4

(4)

CSP-1/C \
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68.

‘eaclall aacamIea G699 6Ra N8RIYER

o ?

1. QE68I106/QK10A6 688EA qgl e
QI610 ae68a f

2. GaRa 968K 6 SANRD qIREEAR
QIel ¥R 6Q96ad IeA 62IRAN

3. QIARIR ATINKIA Q6AT (Jamnagar
Refinery Complex) 28ai9ia 438
Qog6a 42l 2IQA SAIISE

4. Qaieq Qe86 6956R 296! QhQIadIe
GGl aId eReIal Ad |e 2818 R

(Aa) 162
(B) 364
(©) 204

(D) 163

Qcee QIeygeesa eae (Alliance of Sahel

States) a@6ga16a 6913 6eQ ASQER

oR?

(1) o, f196eq 8 Q@RI gisal fIAe o)
6Q6Q 67 2 U@ AEHIT

(2) 15 qesna 2021 69 2| 99 AISLGR
9eaal g SIRER RN QAR

(3) 9< agea QIR 92 6@ QeQy _Ig
62083 QIes QY

(4) <2 Qemeq 6 gaIa 2024 6a ge8e
62192

162
364
263
164

(GY)
(B)
©
(00)

L))

When was Mahatma Gandhi declared
«Father of the Nation”

(A) 20™ July 1946

(B) 12*August 1947
(C) 15" March 1948
(D) Never, officially

~ India, as everyone knows, is a multi-

lingual country. People often know three
or more languages. In this context, which

_ of the following statements is more

correct?

(A) In India about a quarter of the
population is bilingual; and about a
tenth is trilingual

In India about half the population
is bilingual; about one fifth is
trilingual.

In India about a third of the
population is bilingual; about a
tenth is trilingual.

In India about three fourths of the

population is bilingual and abouta
halfis trilingual.

©

D)

71. Bhatri, Bhuiya, Desia, are analogous to

P. Bagri, Bhateali, Kahluri

Q. Chakma, Haijong, Rajbangsi
R Awadhi, Bagri, Bhagoria

S.  Gujrau, Pattani, Ponchi

(A) PandQbutnotRandS.

(B) QandR butnotP and S

©
(D)

R only
P,Q,RandS

CSP-1/C
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69. ARIAGINIG 6966 ‘GIGa @/e’ 6919 €aIadl

70.

71.

QalaI9zal

(A) 20geiQ 1946
(B)
©

(D) 21ga[R KU6R, 696R Q62

12 208 1947
15qaie 1948

QI9E, 691G~ SZRIS1 628 621A AA63 Q163 |
QeaRIad ARIQESE 87 G 2R RB! S4eRIA
GaB | 4@ aG6galsa @6AI9 694 936 0K
266 7

QUGS SR IR 98 OgAIrE6RIR XRITT;
qe" 4@ QEAIrd 8181

()

QI9e aa WIQ gIa 22 RAIAT; GIA 9@
aBAI'a GRI81

(B)

(C) QUGS SFA°HIQ IQ ge1ard QRUS1; 1A

qQ Q@EAra US!

QIae SRAHIa 9R ogdre kISl 6
Q18 2 §RUS!

D)

991, 94, 6282 694 g A2 AAeA ?
P. Qg SI66R, 9

Q. 9%Al, 2SS, AU A1

R 261, QIgl, KUAIRA

S.  geal’, aeIR, cai@

(A)
B)
©
D)

PaQeg R3S gL
QGaRagPaS s
eeae R

P,Q,RaS

[P.T.O.




72.

73.

74.

CSP-1/C

What was the Lahore Resolution (1940)
about?

(A) A united homeland for Muslims
(B) Supporting the British war effort
(C) Demand for linguistic provinces

(@) Alloftheabove

The demand for linguistic provinces was
first floated to ensure that

(A) People speaking a particular
language got recognition.

(B) For bringing the administration
closer to the people.

(C) To promote linguistic division of
India.

To reduce conflict within the
country.

4P)

The British East India Company
considered itself to be the paramount
power in India after

(A) Defeating Sindhia in 1803

(B) Signing a treaty with Ranjit Singh
in 1809

(C) Defeating Bhonsale in 1818

(D) Suppressing the uprising of 1857

36

72.

73.

74.

Q6218 9gIQ (1940) @' g0 ?

(A) QRRAIRAIRS QIR IR Qg AATIR
(B) §%¢ Qs ang andq

(€C) Sueese geesaid Qi

(D) «asaig Qg

QUVIVAS GEd F0RQA QIR GaIsa €Qay 19
6RI82R

(A) 691G 7Eg Q18I @RS 6RIRAIRT QIGE
qeIe

(B) 6RIeAIRS QIH6R GAIARG OREIRR
(C) QU9 ABINAR INRFY 67IQLE

(D) 6260062 QR 2IA ]!

QAACER 6R6R0IQ 3T g 882 IR T
Q6SIS [AGI 691 IR @FaQ ?

(A) 1803 ea QRaig 9RIg @9

(B) 1809 62 @a862°2€ A2 QI@RIAI QIR
R

(C) 1818 6a 6niasag A8Ig @

(D) 1857 6a @6gle @a8 @@

75.

76.

R R

The first modern judicial court iy, India
presided over by Elijah Impey w.
in

as set up
(A) Murshidabad
(B) Patna

(C) Kolkata

(D) Dhaka

Themotto, “Yato_dharmastato Jayah™ has
been adopted by

(A) The Lok Sabha of India
(B) TheRajya Sabha of India
(©) The Constituent Assembly of India

(D) The Supreme Court of India

3

an institutional arrangement to
keep Science, Society and Industry on the
same page” was said about

(A) ThellTs

(B) The Department of Science and
Technology

(C) TheTIFR

(P) TheCSIR

- CSP-1/C
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75. <@gl Qene 2UFGIEA KGR g2 21432

76.

77.

82 2QNS 69K0I6Q FIAR SAITINIA! ?
(A) qdee

(B) aeer

(C) sQieeel

(D) g

‘acel udl geol ear’ QIHIS QIRIQIAI 92E
QAN ?

(A) <19sa exIRaEsl
(B) «uesa qisyasi
(C) Quesa AR a8l

D) <Ieea SIS NIAIR

QRIR, AAIS G 8g] AAIRQIIE] IR0 QY.
_ NR QIR /eI 618 QRIAINT |

(A) aaee
(B) <I=mIe 38 639de IQQ
(C) TIER

(D) CSR

[P.T.O.
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Direct Action Day refers to

(A) Theday ear-marked by the Muslim
League for taking direct action to
assert their political demand for a
separate homeland for Muslims

(BY The day ear-marked by the Indian
nationalists to oust the British
from India

(C) The day ear-marked by the
Scheduled Castes Federation to
protest against social injustice

(D) Alltheabove

One of the earliest mentions of
Bharat varshaisin

(A) The writings of Ptolemy

(B) The writings of Fa Hien

(C) TheHathigumpha inscription
(D) The Ajanta Caves

This place is known as the city of caves
(A) Ajanta

(B) Ellora

(©) Udayagiri

(D) Gharapuri

CSP-1/C 38

78.

79.

80.

QI8 QATRQA Q6N |'4 914 7

(A) QQRAIRAIRS QIS QaR QAP QAR
ARARQ QI geYa QIdY @3l 669
0% @_Q

(B) S1eeQ 7688 26I8C! aIe KRS
QISIAGIRIRIAIGS QIal 9% @ed

(C) QRS 2RYID F6AER QTS 81T
ALIAN QA e @eQ

(D) «csaIg Qg

QUAELTR QININEA VSRIQ 6RAYER 62198 7
(A) ceQfis 6Rsl

(B) gRaIeS sxsl

(C) Qe1gsT 2R6RS

(D) azeclI Qs

6e9l 2ER ‘TR A2’ 6L 9IS ?
(A) 2e9

(B) wsauial

(C) @0add

(D) a9l

T T

y/“l(altaka caves” referred to, among others

82.

83.

P.  Hathigumphaand Ranigunmpha
Q. KumariParvata

R Alakapurigumpha

S. Mahendragarh

(A) P,QandRbut,notS

(B) PandSbut,notQandR

(C) PandQbut,notRandS

(D) P.Q,RandS

The Kalinga Prize is given for
(X) Achievements ofascientist

(B) Achievements of a science
popularizer

(C) Achievements ofa geologist

(D) Achievementsofa mathematician

The achievements of Pandit Gopabandhu
Das are in the field of

(A) Science
(B) Law
(© National Movement

(D) Alloftheabove

CSP-1/C

81.

82.

83.

‘QeQ GIAIQI T4 62RA]R QRISAM 7
P. =019l @ QIaigs

Q. g1 ase

R, 2eQigal gt

S. 629

(A) P,QaRag Sgsx

(B) PaSag QaRgsw

(C) PaQ&q RaSgse

(D) P,Q,RaS

QR eUQ 6FRYAIR GTIAN ?
(A) <66 638IGaS 6]

(B) 964 3IRIFY 6R9TA GRS SIS
el

(C) <sa §6]76S 969

(D) 66 9de8S 09

6RUARY QAQ 694 6AGER F0Q GOHR ATYER ?
(A) [=ie

(B) zse

(C) <1 2RSS

(D) 2Q8RUS Q.

[P.T.O.




84.

86.

Zero Casualty At Any Cost (ZCAAC) is
a principle followed by

(A) The United Nations
(B) NATO
() Govemnment of Odisha

(D) SAARC

Porus is said to have gifted Alexander a
(A) boxofmangoes

M) diamond

(€) block of steel

(P) cotton shirt

The famous architect Bisu Moharana is
associated with

(A" SunTemple at Konark.
(B) TajMahal.
(C) Brihadeeswara Temple

(D) Rathas at Mahabalipuram

CSP-1/C
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84.

85.

86.

ca6daa qaiea §rY avaeieel (ZCAAC)
Q16Q @4 926 9388 ?

(A) @geeicaa
(B) sies1 (NATO)
(C) &gl QeRIa
(D) a&(SAARC)

AIERRLIIAG Y] 698 [ATUR 62286R ?
(A) e §§

(B) <«ial

(C) qe ae

D) geiQs

gas 8g1/9a% 9 ARIeEI QIR A2 A°g9 ?
(A) seiaIea gdinra

(B) cieqaea

(C) qeseqe ara

(D) aeeigena sa

87. ‘At the end of the Civil Disobedience

88.

89.

Movement Gandhiji took out a padyatra
against untouchability. His first padyatra
was undertaken in 1934 in

(&) Nagpur
(B) Noakhali
(C) Jharsuguda

(P) Thanjavur

The infamous Rowlatt Act was opposed
by Indians because it provided for

(A) trying of sedition cases without a
jury and holding suspects in jail
without trial

(B) opposing the Indian national

movement

(C) hampering the economic growth of

India

(D) all ofthe above

Which of the following bauxite deposit
is considered as the largest one in India?

(GY)

Riasi and Poonch deposit (Jammu
& Kashmir)

(}) Panchpat mali deposit (Odisha)
©

(D)

Gandhamardan deposit (Odisha)

Balaghat deposits (Madhya
Pradesh)

CSP-1/C
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87.

88.

89.

ISR AAIRY 2I6RLFR 68960 QIRF1, AGAYS!
Q6ANUCR IR ARG LB | SIS AT
92213l 1934 6a 6290 sAQR ?

(A) ceaga
(B) qas@
(©) ciegge!

(D) emiga

299 2198, a19e (Rowlatt Act) ¢
QAUAGIAAIER 62NN I6AIN LQIER 2

@)

Q0IQ IR 62EERIR AIAKI B IR IVIA6Q
QRIS QALY

(B) sueeia eie1a a°giag e
(C) sIeee 218 IQ@6a QR
(D) <asalg Qg

FAAYS 9RAIAS g AIRSY 609% KSR
QLR QU I9IQ QAIAIT ?

(A) d2a1d 6 9] A°gR (9IF B QIgIR)
(B) @zae ad a°ge (a54a1)
(C) emaice a°ge (6341)

(D) QRIQIs I°ge (auged)

[P-T.O.



90.

92.

Which states share the Tungbhadra
Multipurpose project?

(A) AndhraPradesh and Kamataka
(B) Kamatakaand M.P.

(C) Odishaand Jharkhand

(D) Tamil Naduand Kamataka

Match List I with List II and select the
correct answer using the code given below
the lists:

List I ListII

(a) Chinook 1. USA.
(b) Sirocco 2. Australia
(c) Brickfielder 3.  Europe
(d) Mistral 4. Africa
Codes : o

(@ @) () @
TR 1 2T 2 3

@) 2 8
G 2 1 4
o 1 3 2

The only landlocked country in south-
east Asiais :

(&) Laos

(B) Thailand
(C) Vietnam
(D) Cambodia

CSP-1/C
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91.

QEIegl 9g9%1 9egq 694 QIR QI1d alaie ?
(A)
(B)
©)
D)

2159608 8 *IE]
QISR B ARIGERA
(634l 6 KIeC8

SIfRRIQ 8 @ISR

cidel I ae ei@el Il @ @’6alsl @3 G QIRRIQ
c6e FAIAIGYS! 6QIE QAR @F A0R A8
oag @ |

siRell ci@e 11
(a) @QR 1. QORI AEARRI
(b) QsQIsR! 2. 6§zl
(c) 3R Gaea 3. Qsa@
(@ ag 4. 213!
A 46Qig (Codes) :
@ ® © @

92.

w4 o2 38
@2 g 4
(©). 302 e L4
@ae 8 2

ceee @Ba-99 NA2IR §URESTE 628 6208
(A) «u6q

(B) aieie

(C) &aeRIa

(D) <sacl

! R

93.. Match List I with List II and select the

94,

correct answer using the code given
below the Lists:

List I List I1

(Australian States) (Cities)

(a) Queensland 1. Adelaide

(b) SouthAustralia 2. Brisbane

(¢) Victoria 3. Kalgoorlie

(d) Western Australia 4. Melbourne
5. Sydney

Codes :

@ ® (© @
w2 § &4 1
@3 1 2 &

@ 2 N &=
oy 1.8 2

Which one of the species is an example
of extinct species?

(A) Asiatic Cheetah
(B) Black Buck
(C) Crocodile

(D) Indian Wild Ass

CSP-1/C
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43

ciaal Il a2 eidel [ @ areaia @@ 8 SIAs!
962 22IYINZQI 62US IR 2 0] A8
998 @ |

oIl I a1t 11

(2692 AIYFR) (ALRGFS)

(a) gqagaus 1. 2162192

(b) <Rdazegdal 2. IR

(c) ezl 3. QRgR

(d) oanzegdal 4. 6996914
5. dg@

6i¢ (Codes) :

(@ ®) © @
Aa 2 5 4 1
B) 3 1 2 4
©) 2 1 4 3

D) 1

wn
[
w

FARYE gRISS ARIQ 6986 Q9 8IS SIed
268 ?

(A)_ QIR 36!
(B) Qs qs
(C) QR

(D) «ues1a &y au

[P.T.O.
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96.

Which one of the following pair is not
correctly matched?

Month Position of Sun

(A) June Midday Sun overhead

at tropic of Cancer

(B) December Midday Sunoverhead

at tropic  of
Capricorn

(9) March Midday Sun overhead

on Equator

D) September Midday Sunoverhead

on Arctic Circle

Which one of the following term
describes not only the physical space
occupied by an organism, but also its
functional role in the community of
organisms?

(A) Ecotone
(B) Ecological niche
(@) Habitat

(D) Homerange, .

CSP-1/C

95.

96.

56Q Q2IAIRYR CAIFAIRE AUIER 6246 0]
6ARQ 6% 7

a QYIS §S

AUYRed 944 RLTQIEA
78 Q96Q

GV

(B) @6ane AU@RQ QLY ASERIER
Q8 996Q

©) ae AUIRRQA LY TgLEas!
QQ6Q

(D) 626qaR AuYeeQ QY qeag

6@ QA6

GARYE AAYQ 6RAG 6TITY |19 QIR 679F
QIRIER gQ AGE] AR @68 AIT, 12 8191
QQ6R 12 ALY KIS FAAQ A AR 964 |

(A) seaissIR (Ecotone)
(B) escieniaqiq 8o, (Ecological niche)
(C) zRage

(D) qe adea

‘( e

97. Inthe grasslands, trees do not replace the

98.

grasses as a part of an ecological
succession because of

(A) Insectsand fungi

(B) Limited sunlight and paucity of
nutrients

(C) Water limits and fire

(D) None of the above

With reference to the food chains in
ecosystems, which of the following
kinds of organism is / are known as
decomposer organism/organisms?

1. Virus
2. Fungi
3. Bacteria

Select the correct answer using the codes
given below.

(A) lonly
(B) 2and3only

(& land3only

(D) 1;2and3 " °

CSP-1/C

97.

98.

Q€962 94 AId g§] I° 9IGgeR 239MA
4R 2°9 QI6Q 9AER 96Q RIE AE -

(A) <i¢ 6 aa (Fungi)

(B) Qg 99iQa4 G 60192 6QQ AL

(C) qgeRc2q

(D) Qa6QIg faiq 629C F62

a6l daq (Ecosystem) 6a €@y g9l
2RIRER, 6] LIAI[YQ FSAIRS AU
6QQC 2ATASR FIQ NS 2AIgEl ?

1. «ueeq
2. o (Fungi)
3. Qy6R]2I

QE6Q 99K 6RIF YRV QA A0 AN TAR
e |

(A) seee 1

(B) seee263

(C) esee 183

(D) 1,263

[P.T.O.
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99. Which one of the following is the

process involved in photosynthesis?

(A) Potential energy is released to
form free energy

(B) Free energy is converted into
potential energy and stored

(g) Food is oxidized to release carbon
dioxide and water

(I}) Oxygen is taken, and carbon
dioxide and water vapour are given
out

100. Consider the following :

L~ Carbon dioxide
2. Oxides of Nitrogen
3<  Oxides of Sulphur

Which of the above is/are the emission/
emissions from coal combustion at
thermal power plants?

(A) 1only
(B) 2and3 only
(&) 1and3only

(D) 1,2and3

CSP-1/C

99, GOAYC 989l Alew AdIQ 69Q% T601A6adqq

2849 266 |
(A) @989 Q9 68 96a G6ie g4

(B) €9 88 S9e d96Q ARG 9y
Q°QBC Q6L

(C) 2eIeRIf 6 88 R66 Q@AQlIsa o
AQPIRR F6R

(D) 2GeIe 9268 RAUAIN L AFIQQI
QIFIASR QIRIA QAL

. A9Rge @ IR @] |

1. aFaRIe,

2. QIRETIEER Q 2AFIAS

3. QQ@q Q 2]Iee

QA6AIQ ARIQ €8RS 2FiR AIGIA YIS6R 69184
Q2RQ F4e 99 |

(A) eeee 1

(B) see2a3

(C) eeen 163

D) 1,263



